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NEW QUESTION 1
Refer to the code snippet:

01 function getAvailabilityMessage (item) ({
02 if (getAvailability(item)) {

03 var msg = "Username available";
04 ]

05 return msg;

06 }

A developer writes this code to return a message to userattempting to register a new username. If the username is available, variable.
What is the return value of msg hen getAvailabilityMessage (“newUserName” ) is executed and getAvailability(“newUserName”) returns false?

A. “Username available”
B. “newUserName”

C. “Msg is not defined”
D. undefined

Answer: D

NEW QUESTION 2

A developer receives a comment from the Tech Lead that the code given below has error:
const monthName = ‘July’; const year = 2019;

if(year === 2019) { monthName = ‘June’;

}

Which line edit should be made to make this code run?

A. 01 let monthName ="July’;
B. 02 let year =2019;

C. 02 const year = 2020;

D. 03 if (year == 2019) {

Answer: A

NEW QUESTION 3
Refer to the code below:

01 let 0 = {
02 get js() {

03 let cityl = String('St.Louis');

04 let city2 = String('New York');

05

06 return {

07 firstCity: cityl.tolowerCase(),
08 secondCity: city2.toLowerCase(),
09 }

10 }

11 }

What value can a developer expect when referencing o.js.secondCity?

A. Undefined
B. ‘ new york’
C. ‘New York’
D. An error

Answer: B

NEW QUESTION 4

A team that works on a hig project uses npm to deal with projects dependencies. A developer added a dependency does not get downloaded when they
executenpm install.

Which two reasons could be possible explanations for this?

Choose 2 answers

A. The developer missed the option --add when adding the dependency.

B. The developer added the dependency as a dev dependency, and NODE_ENVIs set to production.
C. The developer missed the option --save when adding the dependency.

D. The developer added the dependency as a dev dependency, and NODE_ENYV is set to production.

Answer: BCD

NEW QUESTION 5
A class was written to represent items for purchase in an online store, and a second class Representing items that are on sale at a discounted price. THe
constructor sets the name to the first value passed in. The pseudocode is below:
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class Item {
constructor (name, price) {
... // Constructor Implementation

}

class SalelItem extends Item ({
constructor (name, price, discount) {
... // Constructor Implementation
}
}

There is a new requirement for a developer to implement a description method that will return a brief description for Iltem and Saleltem.

01 let regltem = new Item('Scarf', 53);

02 let saleltem = new SaleItem('Shirt', 80, .1);

03 Item.prototype.description = function() { return 'This is a ' + this.name; }

04 console.log(reglitem.description());

05 console.log(salelItem.description());

06

07 SalelItem.prototype.description = function() { return 'This is a discounted ' + this.name; }
08 console.log(reglItem.description());

0% console.log(saleltem.description());

What is the output when executing the code above ?

A. This is a ScarfUncaught TypeError:saleltem.description is not a function This is aScarfThis is a discounted Shirt
B. This is a Scarf This is a Shirt This is a ScarfThis is a discounted Shirt

C. This is a Scarf This is a ShirtThis is a discounted Scarf This is a discounted Shirt

D. Thisis aScarfUncaught TypeError: saleltem.description is not a function This is a ShirtThis is a did counted Shirt

Answer: B

NEW QUESTION 6

Refer to code below:

Function muFunction(reassign){
Letx =1;

vary =1;

if( reassign ) {

Let x=2;

Vary = 2;

console.log(x);

console.log(y);}

console.log(x);

console.log(y);}

What isdisplayed when myFunction(true) is called?

A.2211
B. 2 2 undefined undefined
C.2212
D.2222

Answer: C

NEW QUESTION 7
Which function should a developer use to repeatedly execute code at a fixed interval ?

A. setintervel
B. setTimeout
C. setPeriod
D. setinteria

Answer: A

NEW QUESTION 8

A developer is setting up a new Node.js server with a client library that is built using events and callbacks. The library:

* Will establish aweb socket connection and handle receipt of messages to the server

* Will be imported with require, and made available with a variable called we.

The developer also wants to add error logging if a connection fails.

Given this info, which code segment shows the correct way to set up a client with two events that listen at execution time?

A.

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version JavaScript-Developer-1 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/JavaScript-Developer-I-dumps.html (219 Q&AS)

04 ws.connect(() => {

05 conscle.log('Connected to client')
e 1) .catch({error) == {

07 conscle.log('EREOR', error);

=a

a8 1)»
B. 04 ws.on('connect', () => {
05 conscle.log('Connected to client');
06
07 ws.on('error', (error) => {
08 console.log("ERROR', error);
05 1);
10 1)=»
C.
04 ws.on('connect', () == {
05 conscle.log('Connected to client');
ge });
07
08 ws.on("error', (error) => {
0% console.log('"ERROR', error);
10 });
° 04 try {
05 ws.connect(() => {
06 console.log('Connected to client');
07 1);
08 } catch(error) {
oo console.log("ERROR", error) ;
10 }
Answer: C

NEW QUESTION 9

developer is trying to convince management that their team will benefit from using

Node.js for a backend server that they are going to create. The server will be a web server that handles API requests from a website that the team has already
built using HTML, CSS, and JavaScript.

Which three benefits of Node.js can the developer use to persuade their manager? Choose 3 answers:

A. | nstalls with its own package manager toinstall and manage third-party libraries.
B. Ensures stability with one major release every few years.

C. Performs a static analysis on code before execution to look for runtime errors.
D. Executes server-side JavaScript code to avoid learning a new language.

E. User non blocking functionality for performant request handling .

Answer: ACE

NEW QUESTION 10

Refer to the code below:

Let carl = new Promise((_, reject) => setTimeout(reject, 2000, “car 1 crashed in” =>

Let car2 =new Promise(resolve => setTimeout(resolve, 1500, “car 2 completed”) Let car3 =new Promise(resolve => setTimeout(resolve, 3000, “car 3 completed”)
Promise.race(( carl, car2, car3))

.t hen (value => (

Let result = ‘$(value) the race.’;)}

.catch(arr =>{

console.log(“Race is cancelled.”, err);

D

What isthe value of result when Promise.race executes?

A. Car 3 completes the race
B. Car 2 completed the race.
C. Car 1 crashed in the race.
D. Race is cancelled.

Answer: B

NEW QUESTION 10

Which javascript methods can be used to serialize an object into a string and deserialize a JSON string into an object, respectively?
A. JSON.stringify and JSON.parse

B. JSON.serialize and JSON.deserialize
C. JSON.encode and JSON.decode
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D. JSON.parse and JSON.deserialize

Answer: A

NEW QUESTION 13

A developer wrote the following codeto test a sum3 function that takes in an array of numbers and returns the sum of the first three numbers in the array, and the

test passes.

A different developer made changes to the behavior of sum3 to instead sum only the first two numbers present in thearray.

Which two results occur when running this test on the updated sum3 function? Choose 2 answers

A. The line 05 assertion passes.
B. The line 02 assertion passes.
C. The line 02 assertion fails.
D. The line 05 assertion fails.

Answer: BD

NEW QUESTION 15

Refer to the HTML below:

<div id="main">

<ul>

<li>Leo</li>

<li>Tony</li>

<li>Tiger</li>

</ul>

</div>

Which JavaScript statementresults in changing “ Tony” to “Mr. T."?

A. document.querySelectorAll(*$main $TONY").innerHTML ="' M
B.;

C. document.querySelector(‘$main li:second-child’).innerHTML =’ M
D. "

E. document.querySelector(‘$main li.Tony’).innerHTML =" M

F.’

G. document.querySelector(‘$main li:nth-child(2)"),innerHTML =" M
H.’;

Answer: D

NEW QUESTION 20

Refer to the code below:

1 let carl = new promise((_, reject) =>

2 setTimeout(reject, 2000, “Car 1 crashed in"));

3 let car2 = new Promise(resolve => setTimeout(resolve, 1500, “Car 2 completed”));
4 let car3 = new Promise(resolve => setTimeout (resolve, 3000, “Car 3 Completed”));
5 Promise.race([carl, car2, car3]) 06 .then(value => (

07 let result = $(value) the race. *; 08 ))

9 catch( arr => (

10 console.log(“Race is cancelled.”, err); 11));

What is the value of result when Promise.race executes?

A. Car 3 completed the race.
B. Car 1 crashed in the race.
C. Car 2 completed the race.
D. Race is cancelled.

Answer: C

NEW QUESTION 24
Given the following code: Let x =null; console.log(typeof x);
What is the output of the line 027

C“Null”

“XH

. “Object”

. “undefined”

o0 wm>

Answer: C

NEW QUESTION 26
Refer to the code below:
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01 let sayHello = () => {
02 console.log('Hello, World!');
03 };

Which code executes sayHello once, two minutes from now?

A. setTimeout(sayHello, 12000);
B. setinterval(sayHello, 12000);
C. setTimeout(sayHello(), 12000);
D. delay(sayHello, 12000);

Answer: A

NEW QUESTION 30

Refer to HTML below:

<div id ="main”>

<div id = * card-00">This card is smaller.</div>

<div id = “card-01">The width and height of this card is determined by its contents.</div>
</div>

Which expression outputs the screen width of the element with the ID card-01?

A. document.getElementByld(‘ card-01 ").getBoundingClientRest().width
B. document.getElementByld(‘ card-01 ").style.width

C. document.getElementByld(* card-01 *).width

D. document.getElementByld(‘ card-01 ’).innerHTML.lenght*e

Answer: A

NEW QUESTION 31
Refer to the code below:

Line 05 causes an error.
What are the values of greeting and salutation once code completes?

A. Greeting is Hello and salutation is Hello, Hello.

B. Greeting is Goodbye and salutation is Hello, Hello.
C. Greeting is Goodbye and salutation is | say Hello.
D. Greeting is Hello and salutation is | say hello.

Answer: A

NEW QUESTION 32

A test has a dependency on database. query. During the test, the dependency is replaced with an object called database with the method,
Calculator query, that returns an array. The developer does notneed to verify how many times the method has been called.

Which two test approaches describe the requirement? Choose 2 answers

A. White box
B. Stubbing
C. Black box
D. Substitution

Answer: AD

NEW QUESTION 36

Refer to the code below: FunctionPerson(firstName, lastName, eyecolor) { this.firstName =firstName;
this.lastName = lastName;

this.eyeColor = eyeColor;

}

Person.job = ‘Developer’;

const myFather = new Person('John’, ‘Doe’); console.log(myFather.job);

What is the output after the codeexecutes?

A. ReferenceError: eyeColor is not defined

B. ReferenceError: assignment to undeclared variable “Person”
C. Developer

D. Undefined
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Answer: D

NEW QUESTION 38

A developer wants to leverage a module to print a price in pretty format, and has imported a method as shown below:
Import printPrice from‘/path/PricePrettyPrint.js’;

Based on the code, what must be true about the printPrice function of the PricePrettyPrint module for this import to work ?

A. printPrice must be be a named export
B. printPrice must be an all export

C. printPrice must be the default export
D. printPrice must be a multi exportc

Answer: C

NEW QUESTION 43

Refer to code below:

0l let a = 'a';

062 let b;

03 // b = a;

04 console.log(b);

What is displayed when the code executes?
A. ReferenceError: b is not defined

B. a

C. Undefined

D. Null

Answer: C

Explanation:

CONSOLE

NEW QUESTION 47

Refer to following code block:
Letarray=11, 2, 3,4,5,6,7,8,9, 10, 11];
Let output =0;

For (let num of array){ if (output >0){
Break;

}

if(num % 2 == 0){

Continue;

}

Output +=num;

What is the value of output after the code executes?

A. 16
B. 36
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C.11
D. 25

Answer: A

NEW QUESTION 52
Refer to the code below? LetsearchString = * look for this ’;
Which two options remove the whitespace from the beginning of searchString? Choose 2 answers

A. searchString.trimEnd();
B. searchString.trimStart();
C. trimStart(searchString);
D. searchString.replace(/*\s\s*/, *);

Answer: BD

NEW QUESTION 54
Given HTML below:

<div>
<div id="row-uc">Universal Containers</div>
<div id="row-as">Applied Shipping</div>
<div id="row-bt">Burlington Textiles</div>
</div>

Which statement adds the priority = account CSS class to the universal COntainers row ?

A. Document.querySelector(‘#row-uc’).classes.push(‘priority-account’);

B. Document .queryElementByld(‘row-uc’).addclass(‘priority-account’);

C. Document .querySelector(‘#row-uc’).classList.add(‘priority-account’);

D. Document .querySelectorALL(‘#row-uc’).classList.add(‘priority-account’);

Answer: B

NEW QUESTION 56
Universal Containers recently launched its new landing page to host a crowd-funding

campaign. The page uses an external library to display some third-party ads. Once the page is fully loaded, it creates more than 50 new HTML items placed

randomly inside the DOM, like the one in the code below:

= -
-

All the elements includes the same ad-library-item class, They are hidden by default, and they are randomly displayed while the user navigates through the page.

A. Use the DOM inspector to prevent the load event to be fired.

B. Use the browser to execute a script that removes all the element containing the class ad-library-item.
C. Use the DOM inspector to remove all the elements containing the class ad-library-item.

D. Use the browser console to execute a script that prevents the load event to be fired.

Answer: B

NEW QUESTION 58

Refer to the following code:
01 let obj = {
02 oo 1,
U3 bar: 2

04 }
05 let output = [];
06

07 for (let something in obj) {
08 output.push (something) ;

09 1}

10

11 console.log(output);

What is the output line 11?
A [1,2]

B. [“bar”,"fo0”]

C. [*foo”,"bar”]

D. [*foo:1","bar:2"]

Answer: C
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NEW QUESTION 63
Refer to the code below:

const searchText = 'Yay! Salesforce 1is amazing!';

let resultl = searchText.search(/sales/1i);
let result?2 searchText.search(/sales/);

console.log(resultl);
console.log(resultd);

After running this code, which result is displayed on the console?
A. > true > false

B. > 5 >undefined

C.>5>-1

D.>5>0

Answer: B

Explanation:

searchText

CONSOLE

NEW QUESTION 67

A developer uses a parsed JSON string to work with userinformation as in the block below:
01 const userinformation ={

02 “id " : “user-01",

3 “email” : “user01l@universalcontainers.demo”,

4 "age”: 25

Which two options access the email attribute in the object? Choose 2 answers

A. userIinformation(“email”)

B. userinformation.get(“email”)
C. userinformation.email

D. userInformation(email)

Answer: AC

NEW QUESTION 69

Given the following code:

document.body.addEventListener(‘ click ’, (event) => { if (/* CODE REPLACEMENT HERE */) {
console.log(‘button clicked!";

)
D

Which replacement for the conditional statement on line 02 allows a developer to correctly determine that a button on page is clicked?
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A. Event.clicked

B. e.nodeTarget ==this

C. event.target.nodeName == ‘BUTTON’
D. button.addEventListener(‘click’)

Answer: C

NEW QUESTION 71

developer creates a new web server that uses Node.js. It imports aserver library that uses events and callbacks for handling server functionality.
The server library is imported with require and is made available to the code by a

variable named server. The developer wants to log any issues that the server has while booting up.

Given the code and the information the developer has, which code logs an error at boost with an event?

A. Server.catch ((server) => { console.log('ERROR’, error);});

B. Server.error ((server) => { console.log('ERROR’, error);});

C. Server.on (‘error’, (error) => { console.log('ERROR’, error);});
D. Try{server.start();} catch(error) { console.log('ERROR’, error);}

Answer: C

NEW QUESTION 74

Refer to code below: console.log(0);
setTimeout(() => ( console.log(1);

D

console.log(2); setTimeout(() => { console.log(3);
), 0);

console.log(4);

In which sequence will the numbers be logged?

A. 01234
B. 02431
C. 02413
D. 13024

Answer: C

NEW QUESTION 75
Considering type coercion, what does the following expression evaluate to? True + ‘13’ + NaN

A.'113Nan’

B. 14

C. "truel3’

D. ‘ truel3NaN"’

Answer: D

NEW QUESTION 79

A developer creates a class that represents a blog post based on the requirement that a Post should have a body author and view count.
The Code shown Below: ClassPost {

/I Insert code here This.body =body This.author = author;

this.viewCount = viewCount;

}

}

Which statement should be inserted in the placeholder on line 02 to allow for a variable to be set to a new instanceof a Post with the three attributes correctly
populated?

A. super (body, author, viewCount) {

B. Function Post (body, author, viewCount) {
C. constructor (body, author, viewCount) {
D. constructor() {

Answer: C

NEW QUESTION 83

A developer has a formatName function that takes two arguments, firstName and lastName and returns a string. They want to schedule the
function to run once after five seconds.

What is the correct syntax to schedule this function?

A. setTimeout (formatName(), 5000, "John", "BDoe");
B. setTimeout (formatName('John', “Doe"), 5000);

C. setTimout(() => { formatName("John’, ‘Doe") }, 5000);
D. setTimeout (‘formatName', 5000, ‘John", "Doe");
Answer: D

NEW QUESTION 88
Universal Containers (UC) just launched a new landing page, but users complain that the website is slow. A developer found some functions any that might cause
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this problem. To verify this, the developer decides to execute everything and log the time each of these three suspicious functions consumes.

Which function can the developer use to obtain the time spent by every one of the three functions?

A. consol

B. timelLog ()

C. console.timeStamp ()
D. console.trace()

E. console.getTime ()

Answer: A

NEW QUESTION 92

A developer has an ErrorHandler module that contains multiple functions. What kind of export be leverages sothat multiple functions can be used?

A. Named
B. All

C. Multi
D. Default

Answer: A

NEW QUESTION 96
Which codestatement below correctly persists an objects in local Storage ?

A. const setLocalStorage = (storageKey, jsObject) => { window.localStorage.setltem(storageKey, JSON.stringify(jsObject));}

B. const setLocalStorage = ( jsObject) => { window.localStorage.connectObject(jsObject));}
C. const setLocalStorage = ( jsObject) => { window.localStorage.setltem(jsObject);}
D. const setLocalStorage = (storageKey, jsObject) => { window.localStorage.persist(storageKey, jsObject);}

Answer: A

NEW QUESTION 99
Given the code below:

01 function GameConscole (name) {

02 this.name = name;

03 }

o4

05 GameConsole.prototype.load = function(gamename) {
06 console.log('S${this.name} is loading & game: ${gamename}..."');
07 }

08

09 function Consolelébit (name) {

10 GameConsole.call (this, name);

1

12

13 Consolelébit.prototype = Object.create (GameConsole.prototype);
14
15 //insert code here

16 conscle.lcog('S{this.name} is loading a cartridge game: S${gamename}...');

17 )

18

19 const consolelébit = new Consolelébit ('SNEGeneziz');
20 consclelébit.load('Super Monic 3x Force');

What should a developer insert at line 15 to output the following message using the method ?
> SNEGeneziz is loading a cartridgegame: Super Monic 3x Force . . .

A. Consolel6bit.prototype.load(gamename) = function() {

B. Consolel6bit.prototype.load = function(gamename) {

C. Consolel6bit = Object.create(GameConsole.prototype).load = function (gamename) {
D. Consolel6bit.prototype.load(gamename) {

Answer: B

The Leader of IT Certification

visit - https://www.certleader.com



100% Valid and Newest Version JavaScript-Developer-l Questions & Answers shared by Certleader
CertLeader: ‘ P per-l Q Y

Toader of IT Cortifications https://www.certleader.com/JavaScript-Developer-I-dumps.html (219 Q&AS)

NEW QUESTION 104
The developer has a function that prints “Hello” to an input name. To test this, thedeveloper created a function that returns “World”. However the following snippet
does not print “ Hello World”.

I i
e s = - | [ :'Jll'r:u |
L L4 LELLLIRS §

What can the developer do to change the code to print “Hello World” ?

A. Changeline 7t0) () ;

B. Change line 2 to console.log(‘Hello’ , name() );
C. Change line 9 to sayHello(world) ();

D. Change line 5 to function world () {

Answer: B

NEW QUESTION 105
A developer creates a generic function to log custom messages in the console. To do this, the function below is implemented.

01 function logStatus (status) {
02 console./*Answer goes here*/('Item status is: %s', status);
03 }

Which three console logging methods allow the use of string substitution in line 02?

A. Assert
B. Log

C. Message
D. Info

E. Error

Answer: AD

NEW QUESTION 106

Refer to the following code: 01 function Tiger(){

02 this.Type = ‘Cat’; 03 this.size = ‘large’; 04 }

05

06 let tony = new Tiger(); 07 tony.roar = () =>{

8 console.log(‘'They\'re greatl’);

9%

10

11 function Lion(){ 12 this.type = ‘Cat’; 13this.size = ‘large’; 14 }
15

16 let leo = new Lion(); 17 //Insert code here

18 leo.roar();

Which two statements could be inserted at line 17 to enable the function call on line 18? Choose 2 answers.

A. Leo.roar = () => { console.log(‘They\'re pretty good:’); };

B. Object.assign(leo, Tiger);

C. Object.assign(leo,tony);

D. Leo.prototype.roar = () => { console.log(‘They\'re pretty good:”); };

Answer: AC

NEW QUESTION 108

A developer is working on an ecommerce website where the delivery date is dynamically calculated based on the current day. The code line below is responsible
for this calculation. Const deliveryDate = new Date ();

Due to changes in the business requirements, the delivery date must now be today’s date + 9 days.

Which code meets thisnew requirement?

A. deliveryDate.setDate(( new Date ( )).getDate () +9);
B. deliveryDate.setDate( Date.current () + 9);

C. deliveryDate.date = new Date(+9) ;

D. deliveryDate.date = Date.current () + 9;

Answer: A
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NEW QUESTION 111
Which two console logs output NaN? Choose 2 answers | |

A. console.log(10 / Number('5) ) ;
B. console.log(parselnt ' ("two")) ;
C. console.log(10/ 0);

D. console.loeg(10 / five");

Answer: BD

NEW QUESTION 116
Which statement accurately describes the behaviour of the async/ await keyworks ?

A. The associated class contains some asynchronous functions.

B. The associated function will always return apromise

C. The associated function can only be called via asynchronous methods
D. The associated sometimes returns a promise.

Answer: B

NEW QUESTION 117
A developer has the function, shown below, that is called when a page loads.

function onLoad() {
console.log("Page has loaded!”™);

}

Where can the developer see the log statement after loading the page in the browser?

A. Terminal running the web server.
B. Browser performance toots

C. Browser javaScript console

D. On the webpage.

Answer: C
NEW QUESTION 121
What are two unique features of functions defined with a fat arrow as compared to normal function definition?

Choose 2 answers

A. The function generated its own this making ituseful for separating the function’s scope from its enclosing scope.
B. The function receives an argument that is always in scope, called parentThis, which is the enclosing lexical scop

C. If the function has a single expression in the function body, the expression will be evaluated and implicit returned.

D. The function uses the this from the enclosing scope.

Answer: AC

NEW QUESTION 124

Teams at Universal Containers(UC) work on multiple JavaScript projects at the same time. UC is thinking about reusability and how each team can benefit from

the work of others. Going open-source or public is not an option at this time.
Which option is available to UC with npm?

A. Private packages can be scored, and scopes can be associated to a private registries.

B. Private registries are not supported by npm, but packages can be installed via URL.

C. Private packages are not supported, but they can use another package manager like yarn.
D. Private registries are not supported by npm, but packages can be installed via git.

Answer: A

NEW QUESTION 128

A developer has code that calculates a restaurant bill, but generates incorrectanswers while testing the code:
function calculateBill ( items) { let total = O;

total += findSubTotal(items); total += addTax(total);

total += addTip(total); return total;

}

Which option allows the developer to step into each function execution within calculateBill?
A. Using the debugger command on line 05.

B. Using the debugger command on line 03

C. Calling the console.trace (total) method on line 03.

D. Wrapping findSubtotal in a console.log() method.

Answer: A

NEW QUESTION 133
Which two console logs outputs NaN? Choose 2 answers
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A. console.log(10/ Number(‘'5’));
B. console.log(parselnt(‘two));
C. console.log(10/ “five);

D. console.log(10/0);

Answer: BC

NEW QUESTION 135

A developer is debugging a web server that uses Node.js The server hits a runtimeerror every third request to an important endpoint on the web server.
The developer added a break point to the start script, that is at index.js at he root of the server’'s source code. The developer wants to make use of chrome

DevTools to debug. Which command can be run to access DevTools and make sure the breakdown is hit ?

A. node -i index.js

B. Node --inspect-brk index.js
C. Node inspect index.js

D. Node --inspect index.js

Answer: D

NEW QUESTION 140

Which statement phrases successfully?
A. JSON.parse (‘foo');

B. JSON.parse (“foo ");

C. JSON.parse(“‘foo’");

D. JSON.parse(* “foo " );

Answer: D

NEW QUESTION 142

In which situation should a developer include a try .. catch block around their function call ?

A. The function has an error that shouldnot be silenced.

B. The function results in an out of memory issue.

C. The function might raise a runtime error that needs to be handled.
D. The function contains scheduled code.

Answer: C

NEW QUESTION 145

A developer is required to write a function that calculates the sum of elements in an
array but is getting undefinedevery time the code is executed. The developer needs to find what is missing in the code below.

Const sumFunction = arr => {

Return arr.reduce((result, current) => {
Il

Result += current;

1l

), 10);

);

Which option makes the code work as expected?

A. Replace line 02 with return arr.map(( result, current) => (
B. Replace line 04 with result = result +current;
C. Replace line 03 with if(arr.length == 0) ( return 0; )

D. Replace line 05 with return result;

Answer: D

NEW QUESTION 148

Given code below: setTimeout (() => ( console.log(1);

)- 0);

console.log(2);

New Promise ((resolve, reject )) = > ( setTimeout(() => ( reject(console.log(3));

). 1000);
)).catch(() => ( console.log(4);

)
console.log(5);
What is logged to the console?

A.21435
B.25134

C.12435
D.12534

Answer: B

NEW QUESTION 150
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Refer to the following code that imports a module named utils:

01 import {foo,bar} from '/path/Utils.js’;

02 fool();
03 bar();

Which two implementations of Utils.js export foo and bar such that the code above runs without error?

Choose 2 answers

A. : ; : g ;
//FooUtils.js and BarUtils.]js exist
import {foo} from '/path/FooUtils.js"
import {bar} from '/path/BarUtils.js’'
export {foo, bari}

B. const foo = () => { return '"foo';
const bar = () =» { return 'bar’';
export {foo, bar}

c. export default class {

foo() { return 'foo';
bar({) { return 'bar';
}

D. const foo = () => { return 'foo';
const bar = () => { return ‘'bar”’;
export default foo, bar;

Answer: BC

NEW QUESTION 153
Refer to the code below:

Async funct on functionUnderTest(isOK) { If (isOK) return ‘OK’ ;

Throw new Error(‘not OK’);

)

Which assertion accuretely tests the above code?

A. Console.assert (await functionUnderTest(true), * OK )
B. Console.assert (await functionUnderTest(true), ‘ not OK )
C. Console.assert (awaitfunctionUnderTest(true), ‘ not OK )

D. Console.assert (await functionUnderTest(true), ‘OK’)

Answer: D

NEW QUESTION 154

Refer to the code snippet below: Let array =[1, 2, 3, 4, 4, 5, 4, 4];
For (leti =0; i < array.length; i++) if (array[i] === 4) {

array.splice(i, 1);
}
}

- 3.! 4.!' 4.'.' 5.'! 4.1' 4].;
(let 1 . array.length; 1++){
(array[1
array.splic
}
}

console. log(array)

g (E) f—; <2

What is the value of array after the code executes?

A.[1,2 3,4,5, 4, 4]
B.[1,2,3,4,4,5,4]
C.[1,2 3, 5]
D.[1,2,3,4,5,4]
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Answer: B

NEW QUESTION 156
What is the result of the code block?

flag() s
anotherFlaqg ().

function flag() {
console._log('flag');

}

const anotherFlag = () => {
console.log('another flag');

}

A. The console logs only ‘flag’.

B. The console logs ‘flag’ and another flag.

C. An error is thrown.

D. The console logs ‘flag’ and then an error isthrown.

Answer: D

NEW QUESTION 157

In the browser, the window object is often used to assign variables that require the broadest scope in an application Node.js application does not have access to
the window object by default.

Which two methods are used to address this ? Choose 2 answers

A. Use the document object instead of the window object.

B. Assign variables to the global object.

C. Create a new window object in the root file.

D. Assign variablesto module.exports and require them as needed.

Answer: B

NEW QUESTION 159
Refer to the following array:
Letarrl=[1,2,3,4,5];

console.log(arr2)
» (5) [1, 2,

| 2523 8. 5 1
let arr2 = Array.from(arrl);
console.log(arr2)

. (5) {’-J Ly 23 %3 -'JI

Which two lines of code result in a second array, arr2 being created such that arr2 is not a reference to arrl?

A. Let arr2 = arrl.slice(0, 5);
B. Let arr2 = Array.from(arrl);
C. Letarr2 = arrl;

D. Let arr2 = arrl.sort();

Answer: AB

NEW QUESTION 160

Which option is true about the strict mode in imported modules?

A. Add the statement use non-strict, before any other statements in the module to enable not-strict mode.
B. You can only reference notStrict() functions from the imported module.

C. Imported modules are in strict mode whether you declare them as such or not.
D. Add the statement use strict =false; before any other statements in the module to enable not- strict mode.
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Answer: B

NEW QUESTION 164

A developer has a web server running with Node.js. The command to start the web server is node server.js.

The web server started having

latency issues. Instead of a one second turnaround for web requests, the developer now sees a five second turnaround.
Which command can the web developer run to see what the module is doing during the latency period?

A. NODE_DEBUG-=true node server.js

B. DEBUG=http, https node server.js

C. NODE_DEBUG=http,https node server.js
D. DEBUG=true node server.js

Answer: D

NEW QUESTION 168
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